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Ex: Suppose we take an SRS of 50 U of U freshmen \’/f
and give them an 1Q test. Their mean score is 112.
What can we say about the mean score of ALL
U of U freshmen?
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Look at the Sampling Distribution. o0=(5
Suppose we know the IQ scores have a st. dev. of 15.
— S00
Mz =12 ot ThAD 73 tna)
LS
c iz el
* \/—:S:E : (O / <
CLT sAY

: \|
Normal T yes . &7 co=20 & Wl

(n 9% of samples

% Wil be within
1o oF Y

sk (08 (079 2 41 iyo Jigs

Eglinate +hat the True mean IS SoMewhore
between  [[2 -2 1) ond |2 +2(21)

678 Lo~
\;('\M@rml estimate)
wrike inkerval as - {12 iM%QTL)
1079 +o 1.2
(18 <M <llo2

(1078 , lb2)
957, = Conkidence (evel (C>




February 18, 2014

Interpreting Confidence Level
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Interpreting Confidence Interval
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Form of a Confidence Interval
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